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MATHS

Class X

1.The 7th  term of an A.P. is 34 and 15 th is 74.Find 40th term

2. In figure ABCD is a quadrilateral with AB=AD. AE and AF are respectively bisectors of angle BAC and angle DAC. Prove that EF//BD.
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3.Solve for X :         4X2-2(a2+b2)x+a2b2=0
3. 4. Find G.C.D. and L.C.M. of the following polynomials: 

X4+6X3+8X2  and 7X5_7X4- 140X3             



                                      OR

If (X-2) (X+3) is the GCD of the polynomials P(X)=(X2-3X+2) (aX2+7X+3) and Q(X)=(3X2+8X-3) (X2+bX+6), Find the values of  a and b.

4..    Find the sum of first 20 terms of an A.P. whose nth
term is given by tn=5-3n
5.find the coordinate of the equilateral triangle with sides 2a.

6. A solid sphere of radius 3cm is melted and then cast int smaller spherical balls, each of diameters 0.6cm. Find the number of small balls thus obtained.
7.
A wrist watch is available for Rs.960 cash or for Rs. 480 cash down 

payment and two equal monthly instalments of Rs. 245 each. Calculate the rate of interest charged under the instalment plan.

8
Prove that the area of the equilateral triangle described on the side of a 
square is half the area of the equilateral triangle described on its 


diagonal.

9. Solve for x and y  , x + 3y = -7  and 3x - y = 19
10.A builder sales of flats for Rs.30,00,000 cash or for 


Rs.10,31,600 cash down payment and three equal 

quarterly instalments.If the rate of interest charged is 10% per annum compounded quarterly., compute the value of each instalment uner 


instalment scheme. Also, find the total interest.
11.
Without using tables, evaluate,

cos(40+  A )- sin(50 -  A  ) + cos240 +cos250   + tan1 tan2 tan3 --- tan89
12 If the distances of P(x,y) from A(a+b, b-a) and B(a-b , a+b) are equal 


prove that bx=ay.

13.. Show that the points (2, -2), (8,4), (5,7) and (-1,1) are vertices of a rectangle.       

OR
. Find the ratio in which line segment joining (-2,-3) and (1,6) is divided by x axis.
14 A card is drawn at random from a well shuffled deck of 52 playing cards  .Find the probability that the card drawn is neither a red nor a queen             
 15.Construct a 
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ABC in which BC = 5cm, 
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A = 60°, and median AD through A is

      4cm. Construct a  ∆A’BC’ similar to ∆ABC with BC’ = 7cm
-------------------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image4.png]_1185212901.unknown

_1185212902.unknown

_1171546705.psd

